
N\P lvta tc ht 1_rt 41-

t!1.1
(^\ f (x) =

\ i skq-{"[

t'(
s; tt {

Tavr$ Lvtvl 
$s 

p{rvtktx um

lJ ,= I 
( e1 = 6 '*

5x2 t3r

hes!*6vruntcr v. si dh {t(x\stB.

r\= 10xt3

t(*\= {8. \i lzi r *! tqtl c,t,tt trt

'tB : '10 x't 3

't0f,={5

* = 4,5

5 ror I X-= 1,5

tb) I d.Ll 
$*ttci,ts

(x)=2

\( = 3'(6\

Lutu"rvts

= 2- (+ I

g- koercLr-uqt

8'6 = gl" t 4 B = 84

Ta-r,rg { \L\At s prutkt*vrs k rzry *{-s-us"ie,{,trx aLLIs,i ( 6,

L*$ c*ttuvts e\t,m*i*uv, ( po eli f u-r,t ktS l* *t tl- t .

g- B4= Lo(*-6)

$ = lA (- 120 r 8tr

u = 2(tx - 36
J

Sk a,

\

5

LO

x r s)

sh)

=k{r-rr\) 6fit=3
t

)a
tt 

Sat \a skarvu*[$s-

p ra ktevt

,/ tovr $tw4gs prt k t

**$Sp*r,t Lt vu ccl { * ,{x e\w C. 6, || 
3 = 0 ,

0 = 2A ( - jL

r, 3u Eq

7{) 5

( l; ') ( (";n)Jg

Ci',a \<.lts turlrrr,*ig

Jrr 
f..\i rtc vt vaui:a.vt

5 Krss


